
User’s Manual – AREBOS Wheel Set for Metal Cabinet 

1 
 
 

 
 
 
 
 
  

 

Wheel Set for Metal Cabinet  
 

AR-HE-ASRG/S 
 

 

 
 
 

 
 
 
 
 
 
 
 
 
 
 

 

Please follow all security measures in this user´s manual to ensure a secure use. 

 

Thank you for trusting in AREBOS. 



User’s Manual – AREBOS Wheel Set for Metal Cabinet 

2 
 
 

• Package Contents 
 
 
 

Designation Part name Quantity 

J Bottom enhancement plate 2X 

K Directional wheel 2X 

U Swivel wheel (with brake) 2x 

Q M8*12 screw 16X 

R M8 nuts 16X 

 

NOTE:  This accessory is suitable for following product:   
 

 EAN Model   
Metal cabinet 
140cm 

4252023110853/ 
4252023110822   
(grey/ black) 

AR-HE-AS140G/S  
 

Metal cabinet  
90cm 

4260627423590/ 
4260627423668 
(grey/ black) 

AR-HE-AS90G/S  
 

 



User’s Manual – AREBOS Wheel Set for Metal Cabinet 

3 
 
 

• Assembly 
ATTENTION! 
 
Please make sure you have received all components before installation.   
 

 



User’s Manual – AREBOS Cabinet 

 

1 
 
 

 
 
 
 
 
  

 

Cabinet   
 

AR-HE-AS140 
 

 
 

 
 

 
 
 
 
 
 
 
 
 
 
 

 

Please follow all security measures in this user´s manual to ensure a secure use. 

 

Thank you for trusting in AREBOS. 



User’s Manual – AREBOS Cabinet 

 

2 
 
 

Table of Contents 

1. Safety Instructions .............................. 3 

1.1 Explanation of the symbols ........................................................................................................... 3 

1.2 Safety Warnings ............................................................................................................................. 3 

2. Assembly ............................................ 4 

2.1 Package Contents .......................................................................................................................... 4 

2.2 Assembly........................................................................................................................................ 6 

3. Disposal instruction ............................ 7 

3.1 Disposal of the packaging .............................................................................................................. 7 

3.2 Disposal of waste equipment ........................................................................................................ 7 

Imprint ................................................... 8 

 

  



User’s Manual – AREBOS Cabinet 

 

3 
 
 

Please read and save these instructions. Read through this user’s manual 
carefully before using this product. Protect yourself and others by observing 
all safety information, warnings and cautions. Failure to comply with 
instructions could result in personal injury and/or damage to product or 
property. Please retain instructions for future reference.  
 

1. Safety Instructions 

1.1 Explanation of the symbols 
 

 
Warning! Read the safety instructions carefully. 
Failure to follow the safety precautions could result in 
serious injury or damage. Keep the operating 
instructions in a safe place. 

 
     
    Warning! Do not climb on the cabinet. 
 
 
 
 
 

1.2 Safety Warnings 

 

• Only use for proper purpose like organizing files, folders etc. Max 40kg 
per compartment. 

• This is not a toy. Do not let children play with the cabinet. 

• Do not climb the cabinet. 

• Make sure to fully assemble the cabinet. 

• Only adults my use the keys. Do not give to children. 

• If any damage noticed to the cabinet or unsure about its function, 
contact our customers service. 

 



User’s Manual – AREBOS Cabinet 

 

4 
 
 

2. Assembly 

2.1 Package Contents 

 
 
 



User’s Manual – AREBOS Cabinet 

 

5 
 
 

Designation Part name Designation Part name 

A Side panel (Left) L M5 Cap Nut 

B Side panel (Right) M M5*8 Screw 

C Top panel N M5 washers 

D Bottom Panel O Hinge sleeve 

E Back Panel (Left) P Hinge 

F Back Panel  (Right) Q M8*12 screw 

G Door  (Left) R M8 Nuts 

H Door (Right) S M6*50 Philips head 
screw 

I  Compartment board T M6 washer 

 
 

NOTE:  

This article is packed and shipped in 2 packages.  
 

Pakage Nr. EAN Delivery content  

Paket 1 4252023110808 (black) / 
4252023110839 (grey) 

C, D, I 

Paket 2 4252023110815(black) 
/4252023110846 (grey) 

A, B, E, F, G, H , L to T. 

 

 
ATTENTION! 
Please make sure you have received all components 
before installation.   



User’s Manual – AREBOS Cabinet 

 

6 
 
 

2.2 Assembly 

 



User’s Manual – AREBOS Cabinet 

 

7 
 
 

3. Disposal instruction  

3.1 Disposal of the packaging 

• Please make reference to the guidelines and standards for appropriate 
disposal of the packaging valid in your region. In part, the package may consist 
of plastic bags - watch this respect, with special care to ensure that this is not 
out of the reach of children. There is a risk of suffocation! 

3.2 Disposal of waste equipment 

• Equipment must be disposed of in accordance with the rules and regulations 
of the local waste disposal. 

• At the end of the long life of your article, please dispose of the valuable raw 
materials for proper disposal so that proper recycling can take place. If you 
are not sure how to proceed, the local waste disposal companies or 
recycling centers are happy to help. 

 
 
 
 
Our customer service number: +49 (0) 931-45232700 
 
 

Canbolat Vertriebs GmbH • Gneisenaustraße 10-11 •97074 Würzburg 
 

 
 
 

 
 
 



User’s Manual – AREBOS Cabinet 

 

8 
 
 

Imprint 

 
 
 
 
Name of the product: Metal Cabinet 
Model Nr.: AR-HE-AS140G/S (grey/ black) 
Art. Nr.: 4252023110853/ 4252023110822  (grey/ black) 
 
 
 
 
If the product has any modification not allowed by us, this declaration loses its validity.  

 

 

 

 

 
 
Date/Manufacturer Signature/Location:                        Würzburg, 14 December 2022 

 
Identification of the signatory:                
Korhan Canbolat, head of the company  
 
Authorised representative for the technical documentation:  
Korhan Canbolat  
 
 
Office address:                                                                                                   
Canbolat Vertriebs GmbH                                                                       
Gneisenaustraße 10-11                                                                                    
D-97074 Würzburg                                                                                             
 
Return address can be found in the imprint: https://www.arebos.de/impressum/ 
 
VAT identification number: DE 263752326 
Court of the Commercial Register is Würzburg, HRB 10082 
WEEE Reg.-No. DE 61617071 
 


	 Package Contents
	 Assembly

